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CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL
ENGLISH)

P-BLOCK ELEMENTS - I

Evaluation Choose The Correct Answer

1. In which of the following, NH3 is not used ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HeskcS1S6YZG

A. Nessler's reagent

B. Reagent for the analysis of IV group

basic radical

C.Reagent for the analysis of Il group

basic radical

D. Tollen's reagent

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HeskcS1S6YZG

2. Which is true regarding nitrogen ?

A. least electronegative element

B. has low ionisation enthalpy than oxygen

C. d- orbitals available

D. ability to form pm — pm bonds with itself

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_fWsN1C1MzIjU

3. An element belongs to group 15 and 3rd
period of the periodic table, its electronic
configuration .

A,1322322p4

B. 15%2s%2p*

C. 15*25%2p°35%3p?

D. 1s%25%2p°35%3p?

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_O7fvfeUq4ass

4. Solid (A) reacts with strong aqueous NaOH

liberating a foul smelling gas (B) which

spontaneously burn in air giving smoky rings.

A and B are respectively

A. P, (red) and PH;

B. P, (white) and PHj

C.Sg and H,S

D. P, (White) and H,S

Answer: A::B::C::D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_Caz3rPpeoHym

5. In the brown ring test, brown colour of the

ring is due to

A. a mixture of NO and NO,

B. Nitroso ferrous sulphate

C. Ferrous nitrate

D. Ferric nitrate

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_Caz3rPpeoHym
https://dl.doubtnut.com/l/_6U41dUl2Tw4I

6. On hydrolysis, PCl3 gives

A H3 PO,

B. PH,

. H; PO,

D. POCl;

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_6U41dUl2Tw4I
https://dl.doubtnut.com/l/_V9m5FhqXfmQy

7. P,Og reacts with cold water to give

A. Hy PO

B. H,P,O-

C. HPO,

D. H, PO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EDRgw9MkKajS

8. The basicity of pyrophosphorous acid
(H4P205) is

A4

B.2

C.3

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3YWfPoZzbx8R
https://dl.doubtnut.com/l/_Ngci6QmBUWIV

9. The molarity of given orthophosphoric acid

solution is 2M. its normality

A. 6N

B. 4N

C.2N

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ngci6QmBUWIV

10. Assertion : bond dissociation energy of

fluorine is greater than chlorine gas.

Reason : chlorine has more electronic

repulsion than fluorine.

A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion .


https://dl.doubtnut.com/l/_3tZSOKNwgMpA

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::D

o View Text Solution

1. Among the following, which is the

strongest oxidizing agent ?

A. Cl,

B. Fy


https://dl.doubtnut.com/l/_3tZSOKNwgMpA
https://dl.doubtnut.com/l/_mVtY0zo7Nv9N

C. B’I"g

D. [,

Answer: B

° Watch Video Solution

12. The correct order of the thermal stability of

hydrogen halide is

A.HI > HBr > HCl > HF

B.HF > HCl > HBr > HI


https://dl.doubtnut.com/l/_mVtY0zo7Nv9N
https://dl.doubtnut.com/l/_esSWarr5cOD3

C.HCl > HF > HBr > HI

D.HI > HCl > HF > HBr

Answer:

° Watch Video Solution

13. Which one of the following compounds is

not formed ?

A. X€OF4

B. X603


https://dl.doubtnut.com/l/_esSWarr5cOD3
https://dl.doubtnut.com/l/_axMBebPxaEhi

C. X€F2

D. N€F2

Answer: B::D

° Watch Video Solution

14. Which is the most easily liquifiable rare gas

A. Ar

B. Ne

C. He


https://dl.doubtnut.com/l/_axMBebPxaEhi
https://dl.doubtnut.com/l/_u8xgGdfi7eW4

D. Kr

Answer: C

o Watch Video Solution

15. XeFg on complete hydrolysis produces

A. X60F4

B. X602F2

C. X603

D. X€O2


https://dl.doubtnut.com/l/_u8xgGdfi7eW4
https://dl.doubtnut.com/l/_Q5IrkWP93Uge

Answer: C

o Watch Video Solution

16. On oxidation with iodine, sulphite ion is
transformed to

A. 5,0,

B. S,0;

C.50;"

D. SO3~


https://dl.doubtnut.com/l/_Q5IrkWP93Uge
https://dl.doubtnut.com/l/_g5hxorw5RecG

Answer: B::C::D

o View Text Solution

17. Which of the following is strongest acid

among all ?

A HI

B. HF

C. HBr

D. HCl


https://dl.doubtnut.com/l/_g5hxorw5RecG
https://dl.doubtnut.com/l/_rjGqtnQPI1sY

Answer: A

o Watch Video Solution

18. Which one of the following orders is

correct for the bond dissociation enthalpy of

halogen molecules ?

A.B’I"Q > IQ > F2 > Cl2

B.Fy > Cly > Bry > I

C.I, > Bry > Cly > Fy

D.Cly > Bry > Fy, > I,


https://dl.doubtnut.com/l/_rjGqtnQPI1sY
https://dl.doubtnut.com/l/_WyvptEL2wlMf

Answer: B::C::D

o View Text Solution

19. Among the following the correct order of

acidity is

A.HCIOy, < HCIO < HCIO3 < HCIO4

B.HCIO, < HCIO, < HCIO < HCIO;

C. HClOg < HCIO, < HCIO4 < HCIO

D. HCIO < HCIO, < HClO3 < HC1O,


https://dl.doubtnut.com/l/_WyvptEL2wlMf
https://dl.doubtnut.com/l/_rwHVIKSm0AJA

Answer: B::C::D

o Watch Video Solution

20. When copper is heated with conc HNOs it
produces

A. CU(N03)2 NO and N02

B. Cu(NOs), and N,O

C. CU(N03)2 and N02

D. Cu(NOs), and NO


https://dl.doubtnut.com/l/_rwHVIKSm0AJA
https://dl.doubtnut.com/l/_TgJVwaO7OKIv

Answer: C

o Watch Video Solution

Evaluation Answer The Following Questions

1. What is inert pair effect ?

° Watch Video Solution

2. Chalcogens belongs to p-block. Give reason.

| s


https://dl.doubtnut.com/l/_TgJVwaO7OKIv
https://dl.doubtnut.com/l/_0uLfiKQUrCfG
https://dl.doubtnut.com/l/_qsm8Se09uaKW

| @ Watch Video Solution ]

3. Explain why fluorine always exhibit an

oxidation state of -17?

o Watch Video Solution

4. Give the oxidation state of halogen in the

following .

(a) OF; (b) Oy F; (c) Cly05 (d) 1,04

o View Text Solution



https://dl.doubtnut.com/l/_qsm8Se09uaKW
https://dl.doubtnut.com/l/_527kzgVGFFqN
https://dl.doubtnut.com/l/_87KxbtqiKygv

5. What are interhalogen compounds ? Give

examples .

o Watch Video Solution

6. Why fluorine is more reactive than other

halogens ?

o View Text Solution

7. Give the uses of helium .



https://dl.doubtnut.com/l/_l2lFY4ghdzO6
https://dl.doubtnut.com/l/_VFDzbYZGEUJC
https://dl.doubtnut.com/l/_6yI4YWTWLOdt

o Watch Video Solution

8. What is the hybridisation of iodine in IF7 ?

Give its structure.

o Watch Video Solution

9. Give the balanced equation for the reaction
between chlorine with cold NaOH and hot

NaOH.

o View Text Solution



https://dl.doubtnut.com/l/_6yI4YWTWLOdt
https://dl.doubtnut.com/l/_o19ERcXyYC3O
https://dl.doubtnut.com/l/_YsLI0OtZj2Vp

10. How will you prepare chlorine in the

laboratory ?

o View Text Solution

11. Give the uses of sulphuric acid .

o Watch Video Solution



https://dl.doubtnut.com/l/_YsLI0OtZj2Vp
https://dl.doubtnut.com/l/_BAd3rfqqJrVW
https://dl.doubtnut.com/l/_mjf3oLs76b0P

12. Give a reason to support that sulphuric

acid is a dehydrating agent.

o Watch Video Solution

13. Write the reason for the anamolous

behaviour of nitrogen .

o Watch Video Solution



https://dl.doubtnut.com/l/_Tgs7H5LblKui
https://dl.doubtnut.com/l/_qEQeyltSOsnh

14. Write the molecular formula and structural
formula for the following molecules.

(a) Nitric acid

(b) dinitrogen pentoxide

(c) phosphoric acid

(d) phosphine

° View Text Solution

15. Give the uses of argon.

° Watch Video Solution



https://dl.doubtnut.com/l/_gRslVeA89q3O
https://dl.doubtnut.com/l/_HCADRjHHFXJ7

16. Write the valence shell electronic

configuration of group-15 elements.

o Watch Video Solution

17. Give the equations to illustrate the

chemical behaviour of phosphine..

o Watch Video Solution



https://dl.doubtnut.com/l/_HCADRjHHFXJ7
https://dl.doubtnut.com/l/_yoAhZ9YIkqpX
https://dl.doubtnut.com/l/_NhuNBuC6NxCd

18. Give a reaction between nitric acid and a

basic oxide.

o Watch Video Solution

19. What happens when PCl; is heated ?

o Watch Video Solution

20. Why is boric acid considered as a weak acid

?



https://dl.doubtnut.com/l/_RZIelemP46J6
https://dl.doubtnut.com/l/_lHyPcebogizd
https://dl.doubtnut.com/l/_rCO4vdhNFbz7

o Watch Video Solution

21. Deduce the oxidation number of oxygen in

hypofluorous acid - HOF.

° View Text Solution

22. Hybridisation and shape of BrFj is :

° Watch Video Solution



https://dl.doubtnut.com/l/_rCO4vdhNFbz7
https://dl.doubtnut.com/l/_eTFfr918tMun
https://dl.doubtnut.com/l/_sd9KynX1JF3k

23. Complete the following reactions .

NaCl + MnOy + Hy 50, —

o Watch Video Solution

24. Complete the following reactions .

NaNO, + HCl —

o Watch Video Solution



https://dl.doubtnut.com/l/_JcabCEblXBfF
https://dl.doubtnut.com/l/_BPsDkogAuUbZ

25. Complete the following reactions .

I0; +1° +H" —

o Watch Video Solution

26. Complete the following reactions .

-[2 + Szog_ —

o Watch Video Solution



https://dl.doubtnut.com/l/_sKxDwlu9gua0
https://dl.doubtnut.com/l/_nl6RTyiqw6Dt

27. Complete the following reactions .

P, + NaOH + H,O —

o Watch Video Solution

28. Complete the following reactions .

AgNO3 + PH3 —

o Watch Video Solution



https://dl.doubtnut.com/l/_1B7gFkbkr04A
https://dl.doubtnut.com/l/_aDRdMtrpiPMk

29. Complete the following reactions .

o Watch Video Solution

30. Complete the following reactions .

A
KCIO; —

o Watch Video Solution



https://dl.doubtnut.com/l/_dMTbH7U61jgZ
https://dl.doubtnut.com/l/_Jsxmfr8wCJx1

31. Complete the following reactions .

Hot conc

Cu + H,SOy ——

o Watch Video Solution

32. Complete the following reactions .

o Watch Video Solution



https://dl.doubtnut.com/l/_hxWSKuc5Oq6A
https://dl.doubtnut.com/l/_PKkxywCNP5DD

33. Complete the following reactions .

HB’T’ + HzSO4 —

o Watch Video Solution

34. Complete the following reactions .

X€F6 + HgO —

o Watch Video Solution



https://dl.doubtnut.com/l/_0erPBY4eCH2T
https://dl.doubtnut.com/l/_8dxAmnEkrmPE

35. Complete the following reactions .

X€F6 + HQO —

o Watch Video Solution

36. Complete the following reactions .

X60F4 + S’LOg —

o Watch Video Solution



https://dl.doubtnut.com/l/_gbsB1UNZMpKx
https://dl.doubtnut.com/l/_CSQceZwuEftK

37. Complete the following reactions .

Ni / 200atm
Xe+ Fy ———
400°C

° Watch Video Solution

Evaluation Evaluate Yourself

1.Zn 4+ dil HNO; —

° Watch Video Solution



https://dl.doubtnut.com/l/_l6Y0p3kV3a3T
https://dl.doubtnut.com/l/_j48uUdIWO9WM

2. Zn + Conc. HNO3 —

o Watch Video Solution

Additional Questions And Answers Choose The

Correct Answer

1. Which of the following is correct ?

A. H3 POs is dibasic and reducing

B. H3 POs is dibasic and non-reducing


https://dl.doubtnut.com/l/_oGicv5aLt4Zc
https://dl.doubtnut.com/l/_Qi8aZvKWMQuF

C. H3 PO, is tribasic and reducing

D. H3 P is tribasic and non-reducing

Answer: A::B::C::D

o View Text Solution

2. Catenation property of group 15 elements

follow the order

AN<P<As < Sb< B

B.P> > N> As > Sb > B1


https://dl.doubtnut.com/l/_Qi8aZvKWMQuF
https://dl.doubtnut.com/l/_4sQ6MTSDZ4ox

CP< N<As < Sb < Bi

DN > > P > As > Sb > Bt

Answer: A::B

° Watch Video Solution

3. Which of the following halides of group 15 is

not hydrolysed ?

A NF,

B. PF,


https://dl.doubtnut.com/l/_4sQ6MTSDZ4ox
https://dl.doubtnut.com/l/_EpXg08j6YZgB

C. NI

D. Both (a) and (b)

Answer: A::B::D

O Watch Video Solution

4. \Which is dibasic ?

A. Orthophosphoric acid

B. Pyrophosphoric acid

C. Orthophosphorus acid


https://dl.doubtnut.com/l/_EpXg08j6YZgB
https://dl.doubtnut.com/l/_QzEE4pZZv8UD

D. Hypophosphorus acid

Answer: A::C::D

° View Text Solution

5. The hybridisation and shape of SFy is

respectively

A. sp>d?, square planar
B. sp3d2
. sp°d”, octahedral

C. sp°d, see-saw


https://dl.doubtnut.com/l/_QzEE4pZZv8UD
https://dl.doubtnut.com/l/_WjFKGTt4tSvO

D. sp>d, trigonal bipyramindal

Answer: A::B::C::D

° Watch Video Solution

6. Allotrope of sulphur which

paramagnetic behaviour

A. Sg - Rhombic

B. Sg- Monoclinic

C. S5- In vapour phase

shows


https://dl.doubtnut.com/l/_WjFKGTt4tSvO
https://dl.doubtnut.com/l/_iOjeiZRS30Zh

D. Not possible

Answer: A::B::C

o Watch Video Solution

7.5 — S bond is present in

A. H,S,0-

B. H,S05

C. H,S,04

D. H2S206


https://dl.doubtnut.com/l/_iOjeiZRS30Zh
https://dl.doubtnut.com/l/_Xv2QZQXv75zF

Answer: B::D

o Watch Video Solution

8. Pick the wrong one among the following

A. F5- Yellow

B. B’l"2 - Red

C. Cly- Colourless

D. I,- Violet

Answer: B::C


https://dl.doubtnut.com/l/_Xv2QZQXv75zF
https://dl.doubtnut.com/l/_BL9gTcXdGTFr

° Watch Video Solution

9. Hot concentrated H,S50, is moderately
strong oxidising agent which of the following

reactions does not show oxidising behaviour ?

Cu + 2HQSO4 — C’LLSO4 + SOQ + 2H20

D. C’aF2 + H2504 — CCLSO4 + 2HF


https://dl.doubtnut.com/l/_BL9gTcXdGTFr
https://dl.doubtnut.com/l/_fLuiuENVhyyJ

Answer: A::B::C::D

o View Text Solution

10. When copper is heated with conc HNOs; it
produces

A. CU(N03)2 and NzO

B. C’U,(N03)2 and N02

C. Cu(NOs), and NO

D. CU(N03)2 and N20


https://dl.doubtnut.com/l/_fLuiuENVhyyJ
https://dl.doubtnut.com/l/_57GEeG2KKsm0

Answer: A::B::C::D

o Watch Video Solution

11. Least volatile hydrogen halide is

A. HF

B. HCI

C. HBr

D. HI

Answer: A


https://dl.doubtnut.com/l/_57GEeG2KKsm0
https://dl.doubtnut.com/l/_CsnBiAVla3sZ

° Watch Video Solution

12. Oxalic acid on heating with conc. Hy,50,

gives

A. CO only

B. CO, only

C.CO, + Hy0O

D.CO + COy + Hy0O

Answer: B::C::D

| 8 l


https://dl.doubtnut.com/l/_CsnBiAVla3sZ
https://dl.doubtnut.com/l/_GHvmEW5tzXKA

13. Which one of the following orders is not in

accordance with the property stated against it

?

A Fy > Cly > Bry > Iy: Bond

dissociation energy

B.HI > HBr > HCl > HF : Acidic

property in water

C.F5 > Cly > Bry > I, : Oxidising power


https://dl.doubtnut.com/l/_GHvmEW5tzXKA
https://dl.doubtnut.com/l/_xfLDoPze3ihE

D.Fy > Cly > Bry > I,

Electronegativity

Answer: A::B::C::D

O View Text Solution

14. Which among the following ion is not

formed?

AF,

B.Cl;


https://dl.doubtnut.com/l/_xfLDoPze3ihE
https://dl.doubtnut.com/l/_15UTHygqgBur

C. Br3_

D. I,

Answer: A::C

° View Text Solution

Additional Questions And Answers Fill In The

Blanks

1. Orthophosphorus acid on heating gives


https://dl.doubtnut.com/l/_15UTHygqgBur
https://dl.doubtnut.com/l/_lB0RYSXFbPWc

A. Hypophosphorus

B. Orthophosphoric acid

C. Phosphine gas

D. both (b) and (c)

Answer: B::C::D

o Watch Video Solution

2. The incorrect statement among the

following is


https://dl.doubtnut.com/l/_lB0RYSXFbPWc
https://dl.doubtnut.com/l/_Hi3tx94A1L01

A. Reducing character of hydrides of group

15 increases down the group

B.Basicity of hydrides of group 15

increases down the group

C. NCl5 does not exist

D. Phosphorus and arsenic can form

Pm — dm bond but not nitrogen

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_Hi3tx94A1L01
https://dl.doubtnut.com/l/_534m7ACb9VE4

3. The incorrect statement regarding structure

of ozone is

A.Bond angle is less than 120°

B. It is linear

C.The two oxygen-oxygen bond length in

ozone are identical

D. Both (b) and (c).

Answer: A::B

o View Text Solution



https://dl.doubtnut.com/l/_534m7ACb9VE4

4. Maximum covalent character is shown by

A. PCl;

B. NCl;

C. A80l3

D. SbCls

Answer: B::C

o View Text Solution



https://dl.doubtnut.com/l/_p2U7H92WxT2A
https://dl.doubtnut.com/l/_Wb4bLezj0IVj

5. Strong reducing behaviour of H3 PO, is due

A. High oxidation state of phosphorus

B.High electro gain enthalpy of

phosphorus

C. Presence of two-OH groups and one P-H

bond

D. Presence of one-OH groups and two P-H

bonds

Answer: A::B::C::D


https://dl.doubtnut.com/l/_Wb4bLezj0IVj

° View Text Solution

6. Repeated use of which one of the following

fertilizers would increase the activity of the

A. Ammonium sulphate

B. Superphosphate of lime

C. Urea

D. Potassium nitrate

Answer: A


https://dl.doubtnut.com/l/_Wb4bLezj0IVj
https://dl.doubtnut.com/l/_8Gp9UUnQSpbb

° View Text Solution

7. Which reaction is not feasible

A 2H,O + 2F, — 4HF + O,

B.2KBr + I, — 2KI + Br,

C.2KBr + Cly, — 2KCI + Bry

D.2KI + Bry — 2KBr + I,

Answer: A::B

° View Text Solution



https://dl.doubtnut.com/l/_8Gp9UUnQSpbb
https://dl.doubtnut.com/l/_tTOyaj52fEL4

8. Oxidation states of P in

H4P205,H4P206,H4P207 are respectively

A+3, +4, +5

B.+3, +5, +4

C.+5, +3, +4

D.+5, +4, +3

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_tTOyaj52fEL4
https://dl.doubtnut.com/l/_yLmLM6NHxoWE

9. The ionisation energy of Ga is higher than

that of Al because of

A. more effective nuclear charge of Ga

B. smaller atomic size of Ga

C. larger size of Ga

D. both (a) and (b)

Answer: A::B::D

o View Text Solution



https://dl.doubtnut.com/l/_yLmLM6NHxoWE
https://dl.doubtnut.com/l/_I8HUqj6e1ksl

10. Helium is used in balloons in the place of

hydrogen because it is

A. incombustible

B. radioactive and detected easily

C. lighter than hydrogen

D. both (a) and (c)

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_FlVrHmQBjhbe
https://dl.doubtnut.com/l/_ou6zFEq2TCBv

11. The high reactivity of fluorine is due to

A. high ionisation energy

B. low bond dissociation energy

C. low electron affinity

D. high electronegativity

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_ou6zFEq2TCBv

Additional Questions And Answers Assertion

Reason

1. Assertion : H50 is the only hydride of
chalcogen family .
Reason : Acidic nature of hydrides of
chalcogen family increases down the group .

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion


https://dl.doubtnut.com/l/_thGzbwHO1V3G

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

° View Text Solution



https://dl.doubtnut.com/l/_thGzbwHO1V3G

2. Assertion : PF; and IF; have similar
shapes.

Reason : All the bond lengths are equal in PF;

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.


https://dl.doubtnut.com/l/_KBqrCNMFM9YU

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::D

o View Text Solution

3. Assertion : Noble gases have highest
ionization energies in their respective periods.
Reason : The outermost sub-shell of noble

gases in which electron enters is completely

filled.


https://dl.doubtnut.com/l/_KBqrCNMFM9YU
https://dl.doubtnut.com/l/_bfPvv0A60PGR

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_bfPvv0A60PGR

4. Assertion : The valency and oxidation
number of sulphur in Sg respectively are 2 and

0.

Reason : Sg rhombic is the most stable

allotropic form a sulphur.

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion


https://dl.doubtnut.com/l/_bfPvv0A60PGR
https://dl.doubtnut.com/l/_kYGvl1L5sEXe

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_kYGvl1L5sEXe

5. Assertion : Dissolution of concentrated

H,50, in water is highly exothermic process.

Reason : Sulphuric acid is always diluted by

adding acid to water slowly.

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.


https://dl.doubtnut.com/l/_hUQchP5ZI80G

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

o View Text Solution

6. Assertion : IV, is more stable than O,.

Reason : Bond order of [N, is more than that

of 02.


https://dl.doubtnut.com/l/_hUQchP5ZI80G
https://dl.doubtnut.com/l/_rQlLsFq7Hhf3

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_rQlLsFq7Hhf3

7. Assertion : PHy is not possible.

Reason : -5 oxidation state of phosphorus is

not possible.

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.


https://dl.doubtnut.com/l/_rQlLsFq7Hhf3
https://dl.doubtnut.com/l/_XZdpvz5ZJXwh

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C::D

o View Text Solution

8. Assertion : Cl, on reaction with NaOH (cold
and dilute ) gives NaClOs

Reason : Cl, get oxidised only in this reaction


https://dl.doubtnut.com/l/_XZdpvz5ZJXwh
https://dl.doubtnut.com/l/_dIQuuq484wXQ

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_dIQuuq484wXQ

9. Assertion : H3PQ, is less acidic than

H;PO;

Reason : Oxidation state of phosphorus in

H; PO, < H3POq

A. Both assertion and reason are true and

reason is the correct explanation of the

assertion

B. Both assertion and reason are true and

reason is not the correct explanation of


https://dl.doubtnut.com/l/_dIQuuq484wXQ
https://dl.doubtnut.com/l/_ZhNAY2zw4KZx

the assertion.

C. Assertion is true but reason is false

D. Both assertion and reason are false.

Answer: A::B::C

o Watch Video Solution

Additional Questions And Answers Correct

Statement S

1. Which of the following is correct ?


https://dl.doubtnut.com/l/_ZhNAY2zw4KZx
https://dl.doubtnut.com/l/_F6ZkwjGjkUhE

A.In PF}, axial and equatorial bonds are

interchanged known as pseudo rotation

B. In solid state PF% remains covalent

C. PHy cannot be obtained - because H is

not sufficiently electronegative to make

the d-orbitals contact sufficiently

D. All the above

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_F6ZkwjGjkUhE
https://dl.doubtnut.com/l/_L23AJ7xKmF1j

2. About " Ammonia"

|. Ammonia is formed by the hydrolysis of urea.
Il. It is heavier than air.

ll. 1t can readily liquefied by at about
atmospheric pressure.

IV. Liquid ammonia resembles water in its

physical properties.

A. 1,1l and IV only

B. I, 1,1l and IV

C.l,1,IVand il

D. L, 1, 1l and IV


https://dl.doubtnut.com/l/_L23AJ7xKmF1j

Answer: A::D

o View Text Solution

3. About "Nitric acid "

l. It is prepared in large scales by ostwald's
process.

ll. It completely miscible with water forming a
constant boiling mixture.

1. It boils at 56° C.

A.l, 1l only


https://dl.doubtnut.com/l/_L23AJ7xKmF1j
https://dl.doubtnut.com/l/_FQsprLqAYJa2

B. I, 11 and Ill only

C.land lll

D. 1, lll only

Answer: A

o View Text Solution

4. About "White phosphorous"
. It's ignition temperature in very high.

Il. It glows in the dark due to oxidation.


https://dl.doubtnut.com/l/_FQsprLqAYJa2
https://dl.doubtnut.com/l/_7T0KaAu03tAL

lll. White phosphorous is poisonous in nature.

IV. It has pungent smell .

A. 1l and lll only

B. Il and IV only

C. 1, 1,1V and Il
D. L II, Il and IV
Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_7T0KaAu03tAL

5. I. Nitric acid is used in the preparation of
aquaregia.

ll. Salts of nitric acid are used in photography.
ll. About 50% of earth atmosphere contains
dinitrogen gas.

IV. COs is the principle gas of atmosphere.

A.land Il only

B.Ill and IV only

C. 1L 1,1V and |

D. L, 1, 1l and IV


https://dl.doubtnut.com/l/_B37bAA4HjGPN

Answer: A::D

o View Text Solution

6. I. When phosphine is heated with air, it
burns to give meta phosphoric acid.

ll. Nitrogen is used for the manufacture of
ammonia.

lll. Phosphine is weakly basic and forms
phosphonium salts with acids.

IV. Phosphine forms coordination compound

with Lewis base.


https://dl.doubtnut.com/l/_B37bAA4HjGPN
https://dl.doubtnut.com/l/_VVR40aJ7vNOd

A.1and Ill only

B. 1l and IV only

C.I,Iland Ill only

D. L 1I, Il and IV

Answer: A::C::D

° View Text Solution

Additional Questions And Answers Incorrect

Statement S



https://dl.doubtnut.com/l/_VVR40aJ7vNOd

1. Ammonia

A. Forms ammonium salts when treated

with acids.

B. Forms metal hydroxides when its reacts

with metallic salts.

C. It is soluble in water.

D. AmMmonia molecule is octahedral in

shape

Answer: A::C::D



https://dl.doubtnut.com/l/_pz9d7Igx8QYS

‘ o View Text Solution

2. AmMmonia

A. Ammonia molecule is pyramidal in shape

B. Ammonia and water are linked by

hydrogen bonds.

C. Nitric acid decomposes on exposure to

sunlight.

D. Metal nitrate is formed with the release

of nitrogen.


https://dl.doubtnut.com/l/_pz9d7Igx8QYS
https://dl.doubtnut.com/l/_XiXLp79DgvAY

Answer: A::D

o View Text Solution

3. Ammonia

A. Yellow phosphorous catches fire in air.

B.Red phosphorous also reacts with

oxygen on heating.

C. Phosphorous has a layer structure.


https://dl.doubtnut.com/l/_XiXLp79DgvAY
https://dl.doubtnut.com/l/_GcBzpZNMi1Fr

D.Only 2 atoms in phosphorous have

polymeric structure.

Answer: A::B::C::D

o View Text Solution

4. About "Phosphine”

A. It is prepared by heating nitric acid.

B.It reacts with halogen to give

phosphorous penta halides.


https://dl.doubtnut.com/l/_GcBzpZNMi1Fr
https://dl.doubtnut.com/l/_4NMi0t7fbVd9

C.It is a poisonous gas with rotten fish

small.

D. It is used in Homles signal.

Answer: A::B::C::D

o View Text Solution

5. Which among the following is mismatched

regarding the shape ?

A. XeFy- square planar


https://dl.doubtnut.com/l/_4NMi0t7fbVd9
https://dl.doubtnut.com/l/_dLtQYg8Kgpz5

B. XeOF}- square pyramidal

C. XeFj- Distorted octahedral

D. XeOs - Bent T shape

Answer: A::B::C

o View Text Solution

Additional Questions And Answers Very Short

Answer

1. How is nitrogen prepared from liquid air ?


https://dl.doubtnut.com/l/_dLtQYg8Kgpz5
https://dl.doubtnut.com/l/_YrQB1xNQXSpf

Answer:

° Watch Video Solution

2. Give two uses of nitrogen.


https://dl.doubtnut.com/l/_YrQB1xNQXSpf
https://dl.doubtnut.com/l/_sjSxjOXMh7Vi

Answer:

o Watch Video Solution

3. How is ammonia prepared in the lab?


https://dl.doubtnut.com/l/_sjSxjOXMh7Vi
https://dl.doubtnut.com/l/_PWyOjd0QAujG

Answer:

° Watch Video Solution

4. Give two uses of nitric acid.


https://dl.doubtnut.com/l/_PWyOjd0QAujG
https://dl.doubtnut.com/l/_76sQETX1Wwxj

Answer:

o Watch Video Solution

5. What is phosphoresence ?


https://dl.doubtnut.com/l/_76sQETX1Wwxj
https://dl.doubtnut.com/l/_WtzAsHugH7Rx

Answer:

o View Text Solution

6. What is the reaction of Phosphorous with

alkali ?


https://dl.doubtnut.com/l/_WtzAsHugH7Rx
https://dl.doubtnut.com/l/_L04EQsGMwYMf

Answer:

o Watch Video Solution

7. Discuss the oxidising power of fluorine.

Answer:


https://dl.doubtnut.com/l/_L04EQsGMwYMf
https://dl.doubtnut.com/l/_V9MiXD0QHJGx

o View Text Solution

8. Elements of group 16 show lower value of
first ionization enthalpy compared to group

15, why ?

Answer:


https://dl.doubtnut.com/l/_V9MiXD0QHJGx
https://dl.doubtnut.com/l/_g6J6vzg9RzIW

° View Text Solution

9. Although AH of fluorine is less negative
than that of chlorine, but fluorine is a stronger

oxidising agent than chlorine, why ?

Answer:


https://dl.doubtnut.com/l/_g6J6vzg9RzIW
https://dl.doubtnut.com/l/_FDIZ5AVOxCaZ

° View Text Solution

10. (i) Give correct order of boiling point of
hydride of group 17.

(i) Fluorine exhibits only -1 oxidation state
whereas other halogens show +1, +3, +5 and

+7 oxidation state also Explain.


https://dl.doubtnut.com/l/_FDIZ5AVOxCaZ
https://dl.doubtnut.com/l/_kwCNZvOcMscL

Answer:

° View Text Solution

11. How would you account for the following ?
The electron gain enthalpy with negative sign

is less for oxygen than that of sulphur.


https://dl.doubtnut.com/l/_kwCNZvOcMscL
https://dl.doubtnut.com/l/_rUl9CCKiLNmg

Answer:

° View Text Solution

12. There is a huge difference between the
melting and boiling points of oxygen and

sulphur. Why ?


https://dl.doubtnut.com/l/_rUl9CCKiLNmg
https://dl.doubtnut.com/l/_1YY6TSr0QHSI

Answer:

o View Text Solution

13. Why does ozone act as a powerful oxidising

agent ?


https://dl.doubtnut.com/l/_1YY6TSr0QHSI
https://dl.doubtnut.com/l/_IUl0PNBJAv51

Answer:

o Watch Video Solution

14. How is SO, an air pollutant ?


https://dl.doubtnut.com/l/_IUl0PNBJAv51
https://dl.doubtnut.com/l/_ZiCHzs9vCAxJ

Answer:

o View Text Solution

15. Acidic character increases from HF to HI.
State whether the above statement is True or

false and give reason for your answer.


https://dl.doubtnut.com/l/_ZiCHzs9vCAxJ
https://dl.doubtnut.com/l/_HwSALlOZboce

Answer:

o View Text Solution

16. Give the reason for bleaching action of Cl,.



https://dl.doubtnut.com/l/_HwSALlOZboce
https://dl.doubtnut.com/l/_nVCZF3RiFLOV

Answer:

° View Text Solution

17. Give reason for the following :
F5 is more reaction than CIF, but CIlFj5 is

more reactive than Cls.


https://dl.doubtnut.com/l/_nVCZF3RiFLOV
https://dl.doubtnut.com/l/_JPaIkU2w6c5I

Answer:

o View Text Solution

18. Arrange the following as indicated below:
Fs, Cly, Brs, I, - increasing bond dissociation

enthalpy.


https://dl.doubtnut.com/l/_JPaIkU2w6c5I
https://dl.doubtnut.com/l/_M70pCrHbs56G

Answer:

° View Text Solution

19. Arrange the following as indicated below :

HF, HCI , HBr, HI - increasing acidic strength .


https://dl.doubtnut.com/l/_M70pCrHbs56G
https://dl.doubtnut.com/l/_2DUui32ZP5nw

Answer:

o View Text Solution

20. Account for the following :
O - O bond lengths in ozone molecule are

identical.


https://dl.doubtnut.com/l/_2DUui32ZP5nw
https://dl.doubtnut.com/l/_8bbNnAbzWADU

Answer:

o View Text Solution

21. Account for the following :
Most of the reactions in fluorine are

exothermic.


https://dl.doubtnut.com/l/_8bbNnAbzWADU
https://dl.doubtnut.com/l/_qroftY8IPh0I

Answer:

o View Text Solution

22. Explain Why inspite of nearly the same
electronegativity, nitrogen forms hydrogen

bonding while chlorine does not - Give reason.


https://dl.doubtnut.com/l/_qroftY8IPh0I
https://dl.doubtnut.com/l/_Vy41tWXjhk2R

Answer:

o View Text Solution

23. Why hydrides of oxygen is a liquid whereas

hydride of sulphur is a gas?


https://dl.doubtnut.com/l/_Vy41tWXjhk2R
https://dl.doubtnut.com/l/_obkbkX23aiij

Answer:

o View Text Solution

24. Nitric oxide becomes brown when released

in air. Why ?


https://dl.doubtnut.com/l/_obkbkX23aiij
https://dl.doubtnut.com/l/_9cDUmD6nVeYs

Answer:

° View Text Solution

25. BiCll3 is more stable than BiCl5. Why ?


https://dl.doubtnut.com/l/_9cDUmD6nVeYs
https://dl.doubtnut.com/l/_TndPjYQmrf2X

Answer:

o View Text Solution

Additional Questions And Answers Short Answer

1. What is Haber's process? (or) How is

ammonia synthesized by Haber's process ?


https://dl.doubtnut.com/l/_TndPjYQmrf2X
https://dl.doubtnut.com/l/_sUFQGEIlch3y

Answer:

o View Text Solution

2. Explain the reaction of ammonia with

chlorine and chlorides different conditions.


https://dl.doubtnut.com/l/_sUFQGEIlch3y
https://dl.doubtnut.com/l/_MD6O6WEEGvLc

Answer:

° View Text Solution

3. Explain the structure of ammonia .


https://dl.doubtnut.com/l/_MD6O6WEEGvLc
https://dl.doubtnut.com/l/_PVZlu614oio3

Answer:

o Watch Video Solution

4. Explain the commercial method of
preparation of nitric acid. (or) How nitric acid

is prepared by Ostwald's process.


https://dl.doubtnut.com/l/_PVZlu614oio3
https://dl.doubtnut.com/l/_gH2vxotWYurp

Answer:

° Watch Video Solution

5. Name a reaction for the estimation of

Ozone.


https://dl.doubtnut.com/l/_gH2vxotWYurp
https://dl.doubtnut.com/l/_2mUl6WMFN32V

Answer:

° Watch Video Solution

6. Give a test for sulphates.


https://dl.doubtnut.com/l/_2mUl6WMFN32V
https://dl.doubtnut.com/l/_Gvat9qHzerzM

Answer:

o Watch Video Solution

7. Why do noble gases form compounds with

fluorine and oxygen only?


https://dl.doubtnut.com/l/_Gvat9qHzerzM
https://dl.doubtnut.com/l/_FUXKCSmDmMPF

Answer:

o Watch Video Solution

8. An element A occupies group number 17 and
period number 2, is the most electronegative
element. Element A reacts with another

element B, Which occupies group number 17


https://dl.doubtnut.com/l/_FUXKCSmDmMPF
https://dl.doubtnut.com/l/_6U0dT9iisXHD

and period number 4, to give a compound C.
CompoundC undergoes sp>d? hybridisation
and has octahedral structure. Identify the
elements A and B and the compound C. Write

the reactions.

Answer:



https://dl.doubtnut.com/l/_6U0dT9iisXHD

9. Explain the characteristic properties of

hydrogen halides.

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_6U0dT9iisXHD
https://dl.doubtnut.com/l/_u0twtvhLr5ct

10. Discuss the anomalous nature of fluorine.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_u0twtvhLr5ct
https://dl.doubtnut.com/l/_qNbjeoJ0G8qh
https://dl.doubtnut.com/l/_uI8gSuTz9x3u

11. Write the order of thermal stability of the

hydrides of group 16 elements.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_uI8gSuTz9x3u

12. Out of H,0 and H,S which one has higher

bond angle and why ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WY3CzASyfSp9
https://dl.doubtnut.com/l/_ZhI4RJxdCVPd

13. Eplain why the stability of oxaacids of

chlorine increases in the order given below ?

HCIO < HClO, < HClOg < HCIlO,

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_ZhI4RJxdCVPd
https://dl.doubtnut.com/l/_GBDUtVI7mKdw

14. CIF; exists but F'Cl3 does not. Why ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GBDUtVI7mKdw

15. ClF3 molecule has a T-shaped structure

and not a trigonal planar one. Why ?

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_MBIs5sMSgQC9
https://dl.doubtnut.com/l/_gu1Lw3MVNxvc

16. Complete the following reactions :

Cly, + H,O — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gu1Lw3MVNxvc

17. Complete the following reactions :

XeF; + 2H,0 — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_deRvk5fRgmcd
https://dl.doubtnut.com/l/_M3HZPt0tM7Ql

18. Complete the following reactions :

XeFy + 2H,0 — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_M3HZPt0tM7Ql

19. Predict the product :

PClg, + 02H5OH — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pygSGPmKvWDv
https://dl.doubtnut.com/l/_yZmaQa36WPN9

20. Predict the product :

P, + S50,Cly — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yZmaQa36WPN9

21. Predict the product :

POCIl3 + H,O — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Cn2l0D0tneYJ
https://dl.doubtnut.com/l/_R8K1NOfBOzVt

22. Predict the product :

HBr + PH; — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_R8K1NOfBOzVt

23. Predict the product :

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Oitl32hDUecb

Additional Questions And Answers Long Answer

1. Give a detailed account of the interhalogen
compounds with special reference to the
compounds involving iodine. Draw their

structures.


https://dl.doubtnut.com/l/_PtxaiWvEZcqG

Answer:

o View Text Solution

2. Explain the structure of inter halogen

compounds.


https://dl.doubtnut.com/l/_PtxaiWvEZcqG
https://dl.doubtnut.com/l/_n2HXRKOEdj7Q

Answer:

o View Text Solution

3. Mention the uses of helium .

Answer:


https://dl.doubtnut.com/l/_n2HXRKOEdj7Q
https://dl.doubtnut.com/l/_rjguUC2pYJmz

° Watch Video Solution

4. Give a detailed account on allotropes of

sulphur.

Answer:



https://dl.doubtnut.com/l/_rjguUC2pYJmz
https://dl.doubtnut.com/l/_o7jUpm3EP8ec

5. Why is dioxygen a gas but sulphur a solid ?

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_o7jUpm3EP8ec
https://dl.doubtnut.com/l/_rkE7FbSLqd8q
https://dl.doubtnut.com/l/_sv3Yn8J4Kmyy

6. Complete the following reactions :

KCIO; — ?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sv3Yn8J4Kmyy
https://dl.doubtnut.com/l/_JNuqvhnGgHUM

7. Complete the following reactions :

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JNuqvhnGgHUM

8. Complete the following reactions :

Al,Os + NaOH + H,O — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OBBShZ5mIAgu
https://dl.doubtnut.com/l/_xG49YynKT3xC

9. Complete the following reactions :

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xG49YynKT3xC

10. Complete the following reactions :

KCl+ H,504 — ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RRSrkbRgLb50
https://dl.doubtnut.com/l/_BJX9tIuk9gNW

11. An amorphous solid (A) burns in air to form
a gas (B) which turns lime water milky . The
gas iIs also produced as a byproduct during
roasting of sulphide ore. This gas decolourises
acidified aqueous KMnQO, solution and
reduces Fe’™ to Fe?*. Identify the solid A
and the gas 'B' and write the reactions

involved.


https://dl.doubtnut.com/l/_BJX9tIuk9gNW

Answer:

o View Text Solution

12. Give reason for the following :

N5Os5 is more acidic than N50Os.


https://dl.doubtnut.com/l/_BJX9tIuk9gNW
https://dl.doubtnut.com/l/_JncTHOCefjfM

Answer:

o Watch Video Solution

13. Give reason for the following :
Thermal stability decreases from H5O to H,

Te.


https://dl.doubtnut.com/l/_JncTHOCefjfM
https://dl.doubtnut.com/l/_yOpryELcPsMI

Answer:

° Watch Video Solution

14. Give reason for the following :

Fluoride ion has higher hydration enthalpy

than chloride ion .


https://dl.doubtnut.com/l/_yOpryELcPsMI
https://dl.doubtnut.com/l/_nWemuN9zRdlv

Answer:

o Watch Video Solution

15. Account for the following :

Reducing character decreases from SO, to

T602.


https://dl.doubtnut.com/l/_nWemuN9zRdlv
https://dl.doubtnut.com/l/_m8yDZQOic36B

Answer:

o Watch Video Solution

16. Account for the following :
Xenon forms compounds with fluorine and

oxygen only.


https://dl.doubtnut.com/l/_m8yDZQOic36B
https://dl.doubtnut.com/l/_hsKCCdtsvuIa

Answer:

o Watch Video Solution

17. Complete the following equations :

ANaCl + MnQOy + 4H3 50,4 — ?


https://dl.doubtnut.com/l/_hsKCCdtsvuIa
https://dl.doubtnut.com/l/_fkdxIUdHlyoW

Answer:

° Watch Video Solution

18. Complete the following equations :

6XeF, + 12H20 — ?


https://dl.doubtnut.com/l/_fkdxIUdHlyoW
https://dl.doubtnut.com/l/_dKpoHCBPcEgd

Answer:

° Watch Video Solution

19. Explain the oxidising and reducing property

of 802


https://dl.doubtnut.com/l/_dKpoHCBPcEgd
https://dl.doubtnut.com/l/_QHUGILVGlYV0

Answer:

° Watch Video Solution

20. How is sulphuric acid manufacture by

contact process ?


https://dl.doubtnut.com/l/_QHUGILVGlYV0
https://dl.doubtnut.com/l/_JmM8KY0JI1TA

Answer:

° Watch Video Solution

21. Explain the oxidising property of sulphuric

acid .


https://dl.doubtnut.com/l/_JmM8KY0JI1TA
https://dl.doubtnut.com/l/_Q9nfrcmkHjyI

Answer:

o Watch Video Solution

22. How does sulphuric acid react with metals

at various conditions.


https://dl.doubtnut.com/l/_Q9nfrcmkHjyI
https://dl.doubtnut.com/l/_6TsFHj0JoXCL

Answer:

° Watch Video Solution

23. How is chlorine manufactured by the

electrolysis of brine.


https://dl.doubtnut.com/l/_6TsFHj0JoXCL
https://dl.doubtnut.com/l/_cSkQ5vTtPeMt

Answer:

° Watch Video Solution

24. Explain the Deacon's process.


https://dl.doubtnut.com/l/_cSkQ5vTtPeMt
https://dl.doubtnut.com/l/_NrwmimqHemO6

Answer:

o Watch Video Solution

25. Explain the bleaching action of Chlorine.


https://dl.doubtnut.com/l/_NrwmimqHemO6
https://dl.doubtnut.com/l/_0gpwfNq0pcvu

Answer:

° Watch Video Solution

26. What are the properties of inter halogen

compounds ?


https://dl.doubtnut.com/l/_0gpwfNq0pcvu
https://dl.doubtnut.com/l/_nhsP7V3fZ7hp

Answer:

° View Text Solution

27. Complete the following reactions .


https://dl.doubtnut.com/l/_nhsP7V3fZ7hp
https://dl.doubtnut.com/l/_J2njfdXZQU3z

Answer:

° Watch Video Solution

28. Complete the following reactions .

AgCl(s) —I—NH3(aq) — ?


https://dl.doubtnut.com/l/_J2njfdXZQU3z
https://dl.doubtnut.com/l/_I6G3I6dsTdsS

Answer:

° Watch Video Solution

29. Complete the following reactions .

Moist air

PCl; — 2% 2


https://dl.doubtnut.com/l/_I6G3I6dsTdsS
https://dl.doubtnut.com/l/_JvMxs6y0d3Fo

Answer:

° Watch Video Solution

30. Complete the following reactions .

Moist air

PCl — 2™ 2


https://dl.doubtnut.com/l/_JvMxs6y0d3Fo
https://dl.doubtnut.com/l/_bKGXzwobmaU8

Answer:

° Watch Video Solution

31. Complete the following reactions .

NaH,PO, + HCl — ?


https://dl.doubtnut.com/l/_bKGXzwobmaU8
https://dl.doubtnut.com/l/_DvV8i7Hf5bWM

Answer:

° Watch Video Solution

Additional Questions And Answers Numerical

Problems

1. An element A occupies group number 15 and

period number 3, exhibits allotropy and it is


https://dl.doubtnut.com/l/_DvV8i7Hf5bWM
https://dl.doubtnut.com/l/_baw2WYXzW6ZA

tetra atomic. A reacts with caustic soda to give
B which is having rotten fish odour. A reacts
with chlorine to give C which has a pungent

odour. Identify A, B and C. Write the reactions.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_baw2WYXzW6ZA

2. An element 'A' occupies group number 15
and period number 3. It reacts with chlorine to
give B which further reacts with chlorine to
give C at 273 K. Both B and C are chlorinating
agents for organic compounds. C is a better
chlorinating agent because it chlorinates
metals also. B reacts with SO3 and reduces it
to SO,. B has a pyramidal shape. C has
trigonal  bipyramidal shape by sp’d
hybridisation. Identify the element A and the

compounds B and C. Write the reactions.


https://dl.doubtnut.com/l/_baw2WYXzW6ZA
https://dl.doubtnut.com/l/_G1jDg4DQJLUp

Answer:

o Watch Video Solution

3. An element A occupies group number 15 and
period number 3, reacts with chlorine to give

compound B. The compounds B on hydrolysis


https://dl.doubtnut.com/l/_G1jDg4DQJLUp
https://dl.doubtnut.com/l/_GmPXaJ825Bsg

gives a dibasic acid C. The compound C on
heating undergoes auto oxidation and
reduction to give a tribasic acid D. Identify the
elements A, compounds B, C and D. Write the

reactions.

Answer:



https://dl.doubtnut.com/l/_GmPXaJ825Bsg

Unit Test | Choose The Correct Answer

1. Which of the following is strongest acid
among all ?

A. HI

B. HF

C. HBr

D. HCl


https://dl.doubtnut.com/l/_GmPXaJ825Bsg
https://dl.doubtnut.com/l/_jKxXSwDFU1Ez

Answer: A

o Watch Video Solution

2. When copper is heated with conc HNQOj it
produces

A. C’U,(NOg)zNO and N02

B. Cu(NOj), and N,O

C. CU(N03)2 and N02

D. Cu(NOs), and No


https://dl.doubtnut.com/l/_jKxXSwDFU1Ez
https://dl.doubtnut.com/l/_S7pAiNzrNVnD

Answer: A::B::C::D

o Watch Video Solution

3. The correct order of the thermal stability of

hydrogen halide is

A.HI > HBr > HCl > HF

B.HF > HCI > HBr > HI

C.HCl > HF > HBr > HI

D.HI > HCl > HF > HBr


https://dl.doubtnut.com/l/_S7pAiNzrNVnD
https://dl.doubtnut.com/l/_6VRxzkkZdb1R

Answer: B

o Watch Video Solution

4. On hydrolysis, PCl; gives

A. H3 PO,

B. PH,

C. Hy, PO,

D. POCl;

Answer: C::D


https://dl.doubtnut.com/l/_6VRxzkkZdb1R
https://dl.doubtnut.com/l/_nQs5MCIufFmN

° Watch Video Solution

5. An element belongs to group 15 and 3rd
period of the periodic table, its electronic
configuration .

A_1s22322p4

B.1s22322p3

C. 15%25%2p°3523p?

D. 1s*25%2p°3523p°

Answer: D


https://dl.doubtnut.com/l/_nQs5MCIufFmN
https://dl.doubtnut.com/l/_a2y3FzFSZBZp

° Watch Video Solution

Unit Test li Answer The Following Briefly

1. Complete the following :


https://dl.doubtnut.com/l/_a2y3FzFSZBZp
https://dl.doubtnut.com/l/_qs6YFxaYEjyA

Answer:

o Watch Video Solution

2. Complete the following :

KClO; 25


https://dl.doubtnut.com/l/_qs6YFxaYEjyA
https://dl.doubtnut.com/l/_4e57jpVUZUmg

Answer:

o Watch Video Solution

3. Give a reaction between nitric acid and a

basic oxide.


https://dl.doubtnut.com/l/_4e57jpVUZUmg
https://dl.doubtnut.com/l/_IhO2k3uImzPy

Answer:

o Watch Video Solution

Unit Test lii Answer In A Paragraph

1. Give a test for sulphates.


https://dl.doubtnut.com/l/_IhO2k3uImzPy
https://dl.doubtnut.com/l/_0sqWEzqFgpxo

Answer:

o Watch Video Solution

2. Draw the structure of

Sulphurous acid


https://dl.doubtnut.com/l/_0sqWEzqFgpxo
https://dl.doubtnut.com/l/_2cJuHeTWVNf8

Answer:
(##SURCHEXIIV01003E0301O _ AOl##)

o Watch Video Solution

3. Draw the structure of

Hypophosphoric acid


https://dl.doubtnut.com/l/_2cJuHeTWVNf8
https://dl.doubtnut.com/l/_HaJzszpL1xxV

Answer:
(##SURCHEXIIV01CO3E03011 _ AOl##)

o Watch Video Solution

4. Draw the structure of

Nitric acid


https://dl.doubtnut.com/l/_HaJzszpL1xxV
https://dl.doubtnut.com/l/_JNCfkTTCXAYb

Answer:
(##SURCHEXIIV01CO3E03012 _ AOl##)

° Watch Video Solution

5. Explain the bleaching action of Chlorine..


https://dl.doubtnut.com/l/_JNCfkTTCXAYb
https://dl.doubtnut.com/l/_yLkicoyw8FC6

Answer:

o Watch Video Solution

6. Give a detailed account on allotropes of

sulphur.


https://dl.doubtnut.com/l/_yLkicoyw8FC6
https://dl.doubtnut.com/l/_mOFEKzVT8oEN

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mOFEKzVT8oEN

